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Multiplication by Fractions #3—picturing it with arrays
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What is 
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 of 24 ? 
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Picture 
[image: image2.wmf]4

5

 by drawing 5 boxes (the fourths) 
Draw a dark line around four boxes
—that’s 
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 (all, in other words) of 24
4  boxes get 24, so each box gets 6.  
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 of 24 gives us one more box—another 



so the total turns out to be 30
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Of course, you could do some factoring and cancelling:
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x = 5 ( � EMBED Equation.3  ��� ( 6	





x = 5 ( � EMBED Equation.3  ��� ( 6	





x = 30
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The short way goes 
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x = 30

















Here it is algebraically:
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x = 5 ( 6 )	








x = 30	
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